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B.E./B.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2016.

Maximum : 100 marks

Note : Use of Approved &gn Data Book is permitted.
Any required design data can be suitably assumed.

AnswerAgL questions.

What is an S-N Curve?
Define the term critical speed.
What are the types of flexible

connections.

Classify the types of bearings. ;I
Define the term Reliability of a Bearing.
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RT B— (5 x 16 = 80 marks)

nm length is suppor@sﬁceh at its two ends. [t is
‘concentrated cyclic M having a minimum value

n value of 50 kN. D e the diameter of bar
ty 1.5, size effect ", sm:ﬁace finish factor of

a pm;ectmg braé@*en wh:lch a load of 20 kN
The centre of th m from the centre of the

- Fig.Q.11()

dimensioned sketch of a muff coupling which is
el shafts transmitting 40 kW at 350 r.p.m. The
ey is plain carbon steel for which allowable
s may be taken as 40 MPa and 80 MPa
for the muff is cast iron for which the
] assumed as 15 MPa.

Or

it and it transmits 5600 kW at 150 r.p.m. The
er thrust is 500 kN and the shaft weighs 70 kN.
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Figure shows a solid forged bracket to carry a vertical load of 13.5 kN
applied through the centre of hole. The square flange is secured ‘to the
flat side of a vertical stanchion through four bolts. Estimate the tensile
load on each top belt and the ‘maximum shearing force on each bolt. Find
the bolt size, if the pemussilb stress is 65 MPa in shear. All dimensions
in mm.

‘Design a double riveted butt joint with two cover plates for the

longitudinal steam of a boiler shell 1.5 m in diameter subjected to a
steam pressure of 0.95 N/mm?. Assume joint efficiency as 75%, allowable
tensile stress in the plate 90 MPa; compressive stress 140 MPa and shear
stress in the rivet 56 MPa. B

The areas of the turnir
cylinder engine with re to the mean turning moment, below and
b w—267 + 333, — 310, + 226, — 374, + 260
and —244 mm>. The scale for abscissa and ordinate are: 1 mm = 2.4° and
1 mm = 650 N-m res . The mean speed is 300 r.p.m. with a
percentage speed fluctu + 1.5%. If the hoop stress in the material

of the rim is not to exce ) MPa, determine the suitable diameter and
cross-section for the flys ., assuming that the Width is equal to 4
times the thickness. The demsity of the material may be taken to be

Design a leaf spring for thegomng specifications :
Total load = 140 kN; Number of springs supporting the load = 4;
Maximum number of leaves = 10; Span of the spring = 1000 mm;
Permissible deflection = 80 mm. Take Young’s modulus, E = 200 kN/mm?
and allowable stress in spﬁfmatenal as 600 MPa.
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